Seat No.:

Subject Code:3326305

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - I/II ‘(EXAMINATION — SUMMER- 2016

Subject Name: Surveying and leveling

Time: 10:00 AM TO 01:00 PM

Instructions:

1.
2.
3.
4.
5.
6.
Q.1
Q.2
Yal. 2

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. -l S1EURL Ulctotl scllol U,

Define surveying and levelling.
AdarRAA AR M.

Enlist uses of surveying.

Adael ot GuoN AHestall.

Give the list of instruments use in chain and tape survey.
AsO Aol 2U AL ML UL Aeelloll el cvl.
Explain F.B. and B.B.

UL Bl Usal Aol ALl

Find reduced bearing of the following whole circle bearing:

a) 85° b) 220°
ol Aell Yolgd ARl A gute ARl Ui 3uidR s3.
A) 85° ol) 220°

Write uses of contour.

AHLRAU WAL ol GUAN UM,

Define Datum Surface and Reduced Level.

$eu AUl A 3syrs At quesAl.

List the instruments used in Plane Table Survey.

WQol 2ed UTall ol Ultolloll €l e,

Define Line of collimation and Axis of telescope.

Aot A Sllnot ual uellal s 2cllRslu Al
Define Plane Table Survey.

WQot WA Adeprmesial.

Write classification of surveying.
udetl of aollsas?.

OR
Explain principles of surveying.

AT Lt R vl AL He A

Differentiate between Plane Surveying and Geodetic Surveying.
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UHAA ULl Wl ool UTURARAA dAglaAdEAl.

OR
Differentiate between Plan and Map.

WAlol Wl ASAUARAA dA$llAAWL.

State types of obstacles in chaining. Explain any one method of overcome the
obstacles.

AsnAd AARHUe{l Hi il MeRARUA. Aal Ascllel(l As

Mol

OR
Explain different methods of chaining in sloping ground.

alaaloll asllet uR Aisqad wdRMU{lo{lI M A
Explain reciprocal ranging with sketch.
uet wAUet ofl It wusld Us avlal.

OR
The length of a survey line measured with a 20 m chain was found to be
475m. If the chain was 10 cm too long, calculate the true length of the line.

20 HleR oflaisnad As witell clones Hudl a 475 Hle: Hgx usl.
wen Ul work usldaisn 10cm auR cloll edl dRus{lal
douganad.

Write difference between W.C.B. and R.B.
Yelgd Aol wal gdule ARl dell dglaldeul.

OR
Write down errors in compass survey.

Sul udetel 1 aadl gRulsuuAl.
Write short note on local attraction.
s wsdel [QA 2setllu cvil.

OR
Explain characteristics of contour.

AR 2ullo{lctiai@ls drilaHestal.
Write temporary adjustment of prismatic compass.
Auscllasuieg sourl Am0eset UMl

OR
Enlist component parts of prismatic compass and state their functions.

Auisdlasuidstl deslell alel dvllraese] st asaudl.,
Write difference between Surveyor’s compass and Prismatic compass.
ydetsoll surHal Ausclasuidc A0 dstaldcdull.

OR
The bearings of a closed traverse ABCDA are as under. Calculate included
angles and apply usual check.

Line Fore bearing Back bearing
AB N 46° 10’ E S46°10° W
BC S 60°40° E N 60° 40° W
CD S9°50’E N9°50° W
DA N 80°40° W S 80°40° E
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(5)  oluMlciRuwl ABCDA ol ARaL o{lA w0t 8. vidold wau ol owidl  ox
52 Aol As WA $3.

L A2l AR wsda 3ol
AB N 46° 10’ E S46°10° W
BC S 60°40° E N 60° 40° W
CD S9°50°E N9°50° W
DA N 80° 40° W S 80°40° E
Q4 (a)  List out components of Dumpy Level. Explain their functions. 03
sy () sl Qad oll Yeslell algl ArlliateRsqy stal el 03
OR
(a)  Explain types of levelling. 03
) dA&EL stysRAUHLA. 03
(b)  Explain reciprocal levelling with sketch. 04
() dAeaell uAet At wsld Ae asldl. 0¥
OR
(b)  Explain temporary adjustment of Dumpy Level. 04
(o) sl Qacte] souHl AHRASet AHA. 0¥
(c)  The following consecutive readings were taken with a dumpy level along a 07

chain line at a common interval of 30 m. The first reading was taken on a
B.M., where the RL is 10.000m. The instrument was shifted before 1 1
reading. Calculate RLs of all the points by HI method and Rise or Fall
method.

1.500(on B.M.), 0.455(on station A), 0.850, 1.255, 1.650, 2.050, 2.450,
2.855, 3.225, 3.560, 0.750, 1.450, 2.050, 2.655, 3.150, 3.850(on station B)

(5)  ollAcll clUatisl ¥Hlot UR £5aA Bled A usSlauisnIWIUR 09
30HllcRIA uR dlAcl B. yuH didetis Aou M5 WR dlad &
BallR.L. 10.000 Hl gcll.8otgNod 11 Hi cAlUstis UsEL [@Qse s2c
8.0t W8o2 ol R.L. AHIARQL dctoll I Al Uald BldlR ol
el oLl s
1.500(B.M. UR), 0.455(22lel A UR), 0.850, 1.255, 1.650, 2.050, 2.450,
2.855,3.225, 3.560, 0.750, 1.450, 2.050, 2.655, 3.150, 3.850(22lel B UR)

Q5 (a)  Give advantages and disadvantages of plane table survey. 04
Ysl.U () WQol A ARl sltSlAEL WA AR SIAEL QUL 0¥
(b)  What is orientation? Explain any one method. 04

(o)  AZRARAe WA 2?7 2A As IldruHdl. 0¥

(c)  Enlist the instruments used in plane tabling and give their uses. 03

(5) Qo e Adatnl olt Weollo(l 2l dAvlHaAdetl GUAN sBULAl. 03

(d)  Write methods of plane tabling and explain any one in detail. 03

(5) ol eucd ucdetel s:clloll AUl o Auls lduHestal. 03
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